CSSE 220: Answers to exercise on “Polymorphism”

Group members: ___________________________________________________

1. No written answer required.

2. Study the Employee class. Which class does it extend?

3. What happens to p and s and why can you make the assignment?
4. What happens to p and e and s in the two statements that you added?

In your own words, what is polymorphism?

· Hint: It's OK to consult the book or talk to your instructor on this and any of the other questions.
5. ..  insert            a = p;
a. No written answer required.

b. Why does this code not work?  What are we attempting to accomplish here?

c. What happened? Explain the term downcasting.

d. You will get an error message. Explain why you get it.
6. Insert the [three loves statement].
a. No written answer required.

b. Which of the four loves methods got called by the first loves call above?

By the second loves call above?

c. Why does Java not call the exact same method both times?

d. In your own words, what is "dynamic binding" and what is "static overloading"?

7. Explain the purpose of super in this method.
8. No written answer required.

9. Explain why this is a case of dynamic binding.
10. Uncomment uncool …

a. What is unusual about it?

b. What is an abstract method?

c. No written answer required.

d. In which cases may we be interested in abstract methods?
11. Explain how interfaces relate to abstract classes.
